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FINANCIAL MANAGEMENT
Paper-BC-502

Time : Three Hours] [Maximum Marks : 80

Note : Q. No. 1 comprising of five questions short answer type
carrying four marks each is compulsory. Attempt four
questions from the remaining eight questions carrying 15
marks each.
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1. Compulsory Question ( AfEE °9T)

Write notes on the following :
(a) Explain any four factors affecting capital structure.

(b) How is financial management distinct from financial
accounting ?

(c) How will you calculate cost of preference share capital ?
(d) Explain any four objectives of preparing cash budget.

(e) Write a note on significance of working capital in a
business. (4x5=20)
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2. “Financial planning is the key to successful business
operations.” Comment on this statement highlighting the
importance and limitation of financial planning. 15
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3. What is Capitalisation ? What are the consequences of over
and under capitalisation ? 15
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4. What do you understand by short-term sources of finance ?
Explain the different short-term sources of finance. 15
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S. The capital structure and after-tax cost of capital of the
specific sources of a company is as follows :
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Source Book value Market value Specific cost
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Debt 3,00,000 2,75,000 6%

Preference 2,00,000 2,25,000 8%

capital

Equity capital 4,00,000 7,50,000 14%

Retained

earnings 1,00,000 - 13%

10,00,000 12,50,000

Compute weighted average cost of capital using :

(a) Book value weights and (b) market value weights. How

are they different ? 15
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6. What do you mean by capital structure ? Discuss the Net
Income Approach to capital structure. 15
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7. A choice is to be made between two projects which require
an equal investment of ¥ 50,000 each and are expected to
generate net cash flows are as under :
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Year Project A Project B
EL| ofEsT A ofEsT B
3 3
1 25,000 10,000
2 15,000 12,000
3 10,000 18,000
4 NIL 25,000
5 12,000 8,000
6 6,000 4,000

The cost of capital of the company is 10%. Which project
should be chosen under (a) Payback period method (b) NPV

Method.
[Discount factor at 10% are 0.909, 0.826, 0.751 0.683, 0.621,
0.564 for 1 to 6 years] 15
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8. Define working capital. Explain the determinants of working
capital. What are the advantages of adequate working
capital ? 15
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9. What do you mean by cash budget ? Explain the methods
of preparing cash budget in brief. 15
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